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BB

-4 1em®=¢ (61in®
1 in=25 4mm 1 m? =35 _31ft?
=(.0254m =1,308yd?
1 ft=0,3048m BB
1 yd=0_9144m 1 grain=( (000143 1b
1 m=13,2809ft =0.0648 g
=1.0936yd 1 1b= 7000 grains
1 mm =(_(03937in =(,4536kg
mH =453 .68
1 in* =6 _452cm? 1 g=15_43 grains
=6,452% 107 4m? =0,0353 oz
ft2 =0 _0929m? =0.002205 1b

yd2=9 .836m?

mm? =1 55X 10 %in?

m? =10 764ft?
=1,196yd?

—_ e s 2

PR
1 in® =16 _39cm?
=1,639Xx10"%m?
1 ft3=0_0283m?®
=6, 23gsl
1 yd? =0 7646m3
1 gal=4,546 1
=4 5{6%107® m$
=0 16ft3

1 pint=0 568 1
1 ¥pgal=0 83 gal

1 kg=2.205 1b
1 tonne = 1000 kg
=(.984 tons
HBERAE
1g/kg=17_0gr/1b
1gr/lb=0 143 g/ksg
BE
1 1b/ft3 =16 02kg/m?
1 kg/1=62.425 1b/ft®
1 kg/m® =0 0624 1b/ft?
:9; 3
1 ft/min=0 00441 m/s
1m/s=,226_85 ft/min
1 kg/s(K) =13.23 gal/min
1 m®/s=2118 6ft®/min
1ft¥/min=1 7m3/h
=047 1/s



Lauve: ¥ ¢ )

i} IN/m? =0 1452 % 10-%1b/in?
1l atm=1 053x 104 kg/m? =1X10 %bar
=1.033%x10 kg/cm? =4,03%x10"%ink £
=1,013X10% kN/m? =0,1024mmKfF -~
=1,013x bar =0,295X% 10~ %inKAE:
=14.7 1b/in? =7.55X10" mm3E#E
=407 ,69inK & =0,1024kg/m?
(62°FR}) =0,993X 10~ %atm
=10.33mK K (62°FRY) 1 injk K =0.03611b/in?
= 30 inKAE (62 °FRY) =249 N/m?
=760 mm3E £ (62 °Fit) =25.4 kg/m?
1 Ib/in® = 395N /m? =0,0739in} 4k
=6.895X 10" *bar ImmK =1 42 X10-%1b/in?
=27 7HnKEE(62°FR) =9,80N/m:? |
=703,6mmyK £ (62°Fgt) =1kg/m?
=2,0416inR (62 °FRt) =0,0736mmEH: *
=51.8 mm3EH(62°Fat) =0,9677 X 10" *atm
=703.6 kg/m? 1 inz,‘dgi-;=0.491b/inz
=0,068 atm = 3378N/m?
lkg/m® = | 422%10-%1b/in? =12 8in sk
=9 80N/m? 1 mm3EHE=0,01931b/in?
=0,0394inK $: =133 N/m?
= lmmyK ki = 12,8 mmyK &
=0.0736mm3Ef 1 bar=1x105N/m?
=0.9677 x 10" *atm 1Pa=1N/m?

<2



BN (B

R AE

1 joule = 1L ¥
=074 ftlb
=9 699X 10 *Btu
1 Btu=1,055X10%joule
=0,252 kcal
=778 5ft 1b
= 0,293 Fu /Mt
1 kcal=3 9683 Btu
=427 kgm
=4,183X 10%joule
1 ft 1b=0 1383kgm
=0,001286 Btu
=1,356 jonl
1 kgm=7 233 ft 1b.
=0,009301Btu
=9 807 jouel

1Btu/h =0 _293watt .
1kW =1000]/s’ _
=3.6x10°]/h



BTSN (2

T

1 BJ; =550 ftlb/s

= 1.358KH B
=737 ft1b/s
= 3412 Btu/h
=860 kcal/h
lkcal/h=1 16 x10°3kW
1Btu/ft? _=2.713kcal/A:nz
=1,136x107¢J/m?
1 Btu/ft*h=3 155W/m?
1Btu/ft*h=10_35 W/m?
1Btu/ft2°F =4 g8kcal/m2K
=2.043x10*J/m3K
1Btu/f13 =8 gkeal/m?
=3.727 X 10*]/m?
1Btu/lb =0 _556kcal/kg
=2326) /kg
lkeal/m? = (_369Btu/ft?
1kcal/m*K = 0_205Btu/ft2°F
lkecal/m3 =0 1125 Btu/ft?
1keal/kg =1 800 Btu/lb
1A W = 12,000 Btu/h
=3.516ksw
1£t2h°F /Bty in= 0 1§m*K/w
1ft*h°F/Btu=6 9 mK/w

10

=33000ft 1b/m

=1,0139%# 55
=746W / v
= 2545 Btu/h

1K DS =735 56W

=75kgm/s
= 0,986 %% O A
545 4
°F = (9/5°C) + 32
°C=5/9 (°F-32)
1°F =9 555°C
1°C=1 8°F
i
1R =0, 1kgm/s
=0_ 1NS/m?
g =1%x10"*m?/s
b
lkp=9 81N ¢
HhmEE
ERB =32 2ft/s?
=9 8lm/s?
FER i = 32, 1t/s?
=9,78m/s*
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BEBNE
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RP AR R RN )
ERE
F 0 1 2 3 4 S 6 7 3 9
°C °C °C °C °C °C °C °C °C oC’
0 17, 17.2 16.7 16.1 15.6 15.0 14.4 13.9 13.3 12.8
o 12,2 11.7 11.1 10.6 10.0 9.4 89 83 7.8 7.2
?f‘ 6.7 6.1 5.6 50 44 39 3.3 28 22 17
1.1 0.6 — — — = "= "= 2 -
0 1 2 3 4 5 6 7 8 9
30 - 0 0 0.6 1.1 1.7 2.2 2.8 33 3.9
40 44 50 5.6 61 67 7.2 7.8 83 89 9.4
50 10.0 10.6 1t.1 11,7 12,2 12.8 13.3 13.9 14,4 15.0
60 15.6 16.1 16.7 17.2 17.& 18.3 18.9 19.4 20.0 20.6
70 21.1 21.7 22.2 22.% 23.3 23.9 24.4 25.0 25.6 26.1
80 26.7 27.2 27.8 28,3 28.9 29.4 30.0 30.6 31.1 31.7
90 32.2 32.8 33.3 33.9 34.4 35.0 35.6 36.1 36.7 37.2
100 37.8 38.3 38.9 39.4 40.0 40.6 41.1 42.7 42.2 42.8
110 43.3 43.9 44.4 45.0 45.6 45.1 46.7 47.2 47.8 48.3
120 48.9 49.4 50.0 50.6 51.1.51.7 52.2 52.8 53.3 53.9
130 54.4 55.0 55.6 56.1 56.7 57.2 57.8 58.3 S5R.9 59.4
140 60.0 60.6 61.1 61.7 62.2 62.8 63.3 63.9 64.4 65.0
150 65.6 66.1 66.7 67.2 67.8 68.3 68.9 69 70.0 70.6
160 71.1 71,7 72.2 72.8 73.3 73.9 74.4 75.0 5.6 76.1
170 76.7 77.2 77.8 78.3 78.9 79.4 80.0 80.6 1.1 81.7
180 82.2 §2.8 83.3 83.9 84.4 85.0 85.6 85.1 86.7 87.2
190 87.3 88.3 83.9 #9.4 90.0 90.6 91.1 91.7 92.2 92,8
200 93.3 93.9 94.4 95.0 95.6 96.1 96.7 97.2 97.8 98.3

210 98.9 99.4 100.0 100.6 101.1 101,7 102.2
220 104.4 105.0 105.6 106.1 106.7 107.2 107.8
230 110.0 110.6 111.1 111.7 112.2 112.8 113.3
240 115.6 116.1 116.7 117.2 117.8 118.3 118.9
250 121.1 121.7 122,2 122,8 123.3 123.9 124.4

102.8 103.3 103.9
108.3 108.9 109.4
113.9 114.4 115.0
119.4 120.0 120.6
125.0 125.6 126.1

F=(Cx1.8)+32

11



MEMAR, HERERENBRE B

260

200
300

°C °C °C °C °C °C °C °C °C  °C
126.7 127.2 127.8 128.3 128.9 129.4 130.0 130.6 131.1 131.7
132.2 132.8 133.3 133.9 134.4 135.0 135.6 136.1 136.7 137.2
137.8 138.3 138.9 139.4 140.0 140.6 141.1 141.7 142.2 142.8
143.3 143.9 144.5 145.0 145.6 146, 1 146.7 147.2 147.8 148.3
148.9 149.4 150.0 150.6 151.1 151.7 152.2 152.8 153.3 153.9

310
320
330
340
350

154.4 155.0 155.6 156.1 156.7 157.2 157.8 158.3 158.9 159.4
160.0 160.6 161.1 161.7 162.2 162.8 163.3 163.9 164.4 165.0
165.6 166.1 166.7 167.2 167.8 168.3 168.9 169.4 170.0 170.6
171.1 171.7 172.2 172.8 173.2 173.9 174.4 175.0 175.6 176.1
176.7 177.2 177.8 178.3 178.9 179.4 180.0 180.6 131.1 181.7

350
370
380
390
400

182.2 182.8 183.3 183.9 184.4 185.0 185.6 186.1 186.7 187.2
187.7 188.3 183.9 189.4 196.0 190.6 191.1 191.7 192.2 192.8
193.3 193.9 194.4 195.0 195.6 196.1 196.7 197.2 197.8 198.3
198.9 199.4 200.0 200.6 201.1 201.7 202.2 202.8 203.3 203.9
204.4 205.0 205.6 206.1 206.7 207.2 207.8 208.3 208.9 20%9.4

410
420
430
440
450

210.0 210.6 211.1 211.7 212.2 212.% 213.3 213.9 214.4 215.0
215.6 216.1 216.7 217.2 217.8 218.3 218.9 219.4 220.2 220.6
221.1 221.7 222.2 222.8 223.3 223.9 224.4 225.0 225.6 226.1
226.7 227.2 227.2 225.3 228.9 229.4 230.0 230.6 231.1 231.7
232.2 232.8 233.3 233.9 234.4 235.0 235.6 236.1 236.7 237.2

460 237.8 238.3 23%.9 239.4 240.0 240.6 241.1 241.7 242.2 242.%

470 243.3 243.9 244.4 245.0 245.6 246.1 246.7 247.2 247.8 248.3

480 248.9 249.4 250.0 250.6 251.1 251.7 252.2 252.8 253.3 253.9

490 254.4 255.0 255.6 256.1 256.7 257.2 257.8 258.3 258.9 259.4

500 2608 — ~— — — = = - — -
F=(Cx1.8)+32
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BEREE, HBRERE R RE

I _
0 1 2 3 4 5 6 7 g

C

©

32
50
63
86
104
122
140
158
176
194
212

F °F ©°F ©°F °F oF °F ©°F °F o

.0 33.8 35.6 37.4 39.2 41.0 42.8 44.6 46
.0 51.8 53.6 55.4 57.2 59.0 60.5 62.6 64
.0 69.83 71.6 73.4 75.2 77.0 78.8 R80.6 X2
.0 87.8 89.6 91.4 93.2 95.¢ 96.3 9%.6 101
.0 105.8 107.6 109.4 111.2 113.0 114.8 116.6 118
.0 123.2 125.6 127.4 129.2 131.0 132.8 134.6 136

4 4R,
.4 066.
.4 84,
.4 102,
.4.120.
.4 133,

NN T

.0 141.8 143.6 145.4 147.2 149.Q 150.8 152.6 154
.0 159.8 161.6 163.4 165.2 167.0 168.8 170.6 172
.0 177.8 179.6 181.4 183.2 185.0 136.8 188.6 190
.0 195.8 197.6 199.4 201.2 203.0 204.8 206.6 208
.0 213.8 215.6 217.4 219.2 221.0 222.8 224.6 226

.4 156,
.4 174.
.4 192,
.4 210.
4 223.

NN

150

239
248
266
224
302

.0 231.8 233.6 235.4 237.2 239.0 240.8 242.6 244
.0 249.8 251.6 253.4 255.2 257.0 258.8 260.6 262
.0 267.8 269.6 271.4 273.2 275.0. 276.8 278.6 280
.0 285.8 287.6 289.4 291.2 293.0 294.8 296.6 298
.0 303.8 305.6 307.4 309.2 311.0 312.8 314.6 316

.4 246.
.4 264,
.4 232.
.4 300.
.4 314,

SRR

160
170
180
190
200

320
338

356.
374.
392.

.0 321,

327.2 329.0 330.8 332.6 334
.0 339.8

4

4 345.2 347.0 348.8 350.6 352
.4 363.2 365.0 366.8 368.6 370
4 381.2 383.0 384.8 386.6 388
4 399.2 401.0 402.8 404.6 406

.4 336.
.4 354.
.4 372,
.4 399.
.4 408.

NN

210
220
230
240
250

410.
428.
446,
464,
482.

.2
435.2

.4 453.2
2

2

471.
489.

Bhann

F-9
&
(N
SR
IS

260
270
280
290
300

500
518
536
554
572

.0 501.8 503.6 505.4 507.2 509.0 510.8 512.6 514.
.0 519.8 521.6 523.4 525.2 527.0 528.8 530.6 532.

.0 537.8 539.6 541.4 543.2 545.0 546.8 548.6 550
.0 555.8 557.6 559.4 561.2 563.0 563.8 566.6 568
.0 573.8 575.6 577.4 579.2 581.0 582.8 534.6 586

F-N
w
w
‘;-
ISYSIS

.4 552,
.4 .570.2
.4 588.2

C=(F-32) +1.8
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LRSI (A /RO TR

) 34D
SO N B OE X 5 ¥ VOSSN S
1/64 0.015625 0.397 33/64 0.515625 13.097
1/32 0.03125  0.794 17/32 0.53125 13.494
3/64 0.046875 1.191 35/64 0.546875 13.891
1/16 0.0625  1.5%7 9/16 0.5625  14.287
5/64 0.078125 1.934 37/64 0.578125 14.684
3/32 0.09375  2.381 19/32 0.59375 - 15.081
. 7/64 0.109375 2.778 39/64 0.609375 15.478
-+ 0.125  3.175 S 0.625 15.874
9/64 0.140625 3.572 41/64 0.640625 16.272
5/32 0.15625  3.969 21/32 0.65625  16.669
11/64 0.171875 4.366 43/64 0.671875 17.066
0.1875  4.762 11/16 0.6875 17,462
13/64 0.203125 5.160 45/64 0.703125 17.859
7/32 ©0.21875  5.556.. 23/32 0.71875  18.256
., 15/64 0.234375 5.953 47/64 0.734375 18.653
T 0.25 6.349 5 0.75 19.049
17/64 0.265625 6,747 49/64 0.765625 19.477
0.28125 7.144 25/32 0.78125  19.%44.
19/64 0.296875 7.541 51/64 0.796875 20.241
0.3125  7.937 13/16 0.8125 20,637
21/64 0.328125 8,333 53/64 0.828125 21.034
11/32 0.34375  8.731 27/32 . 0.84375  21.431
0.359375 9.128 ,  55/64 0.859375 21.828
2 0.375  9.524 - 0.875 22,224
25/64 0.390625 9.922 57/64 0.890625 22.622
13/32 0.40625  10.319 29/32 0.90625  23.019
7/64 0.421875 10.716 59/64 0.921875 23.416
7/1 0.4375 11.112 15/16 0.9375 23,812
29/64 0.453125 11.509 61/64 0.953125 24.209
15/32 0.46875 11.906 31/32 0.96875  24.606
. 31/64 0.484375 12.303 63/64 0.984375 25.003
+ 0.50  12.699 1 1.00 25.400
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